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AFF–716   

B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2015 

First Semester 

Commerce with Computer Applications 

ADVANCED ACCOUNTANCY — I 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

       Part A  (10  2 = 20) 

Answer all questions. 

1. What is Ledger? 

 ÷£÷μkPÒ GßÓõÀ GßÚ? 

2. What do you mean by Trial Balance? 

 C¸¨¦ ÷\õuøÚ Gß£uß ö£õ¸Ò ¯õx? 

3. What is Error of Commission? 

 ö\´ ¤øÇ GßÓõÀ GßÚ? 

4. Define Bank Re conciliation Statement? 

 Á[Q \›UPmk® £mi¯À – Áøμ¯Ö. 

5. What is Depreciation? 

 ÷u´©õÚ® GßÓõÀ GßÚ? 

6. What is Annuity Method of depreciation? 

 BskzöuõøP ÷u´©õÚ® GßÓõÀ GßÚ? 
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7. What is Profit and Loss Account? 

 C»õ£ |mhU PnUS GßÓõÀ GßÚ? 

8. What is Accommodation Bill? 

 £n Á\vUPõÚ ©õØÖa^mk GßÓõÀ GßÚ? 

9. What is Gross Profit Ratio? 

 ö©õzu C»õ£ ÂQu® GßÓõÀ GßÚ? 

10. What do you mean by Loss of stock policy? 

 \μUS CÇ¨¦ öPõÒøP GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Journalise the following transaction. 
  (i) Purchased goods for cash Rs. 10,000 
  (ii) Purchased furniture for cash Rs. 3,000 
  (iii) Paid for electricity Rs. 500 
  (iv) Sold goods for cash Rs. 8,000 
  (v) Sold goods to Ramu for cash Rs. 3,000 

  ¤ßÁ¸® |hÁiUøPPÐUS •uØSÔ¨÷£mk £vÄ 

ö\´P :  

  (i) öμõUPzvØS öPõÒ•uÀ ö\´ux ¹. 10,000 

  (ii) öμõUPzvØS AøÓP»ß Áõ[Q¯x ¹. 3,000 

  (iii) ªß Pmhn® ö\¾zv¯x ¹. 500 

  (iv) öμõUPzvØS ÂØ£øÚ ö\´ux ¹. 8,000. 

  (v) öμõUPzvØS μõ•ÄUS ÂØ£øÚ ö\´¯¨£mhx 

¹. 3,000. 

Or 

 (b) What are the accounting conventions? 

  PnUQ¯À ©μ¦PÒ ¯õøÁ? 
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12. (a) Rectify the following errors : 

  (i) Purchase of Rs. 1,000 from Gopal wrongly 
entered in the sales book. 

  (ii) Goods taken by the proprietor Rs. 2,000 not 
recorded in the books at all  

  (iii) Purchase books is overcast by Rs. 10,000 

  (iv) Sales returns books have been overcast by  
Rs. 2,500. 

  ¤ßÁ¸® ¤øÇPøÍz v¸zxP :  

  (i) ÷Põ£õ¼h® öPõÒ•uÀ ö\´¯¨£mh ¹. 1,000 

uÁÓõP ÂØ£øÚ HmiÀ £vÄ ö\´¯¨£mkÒÍx. 

  (ii) E›ø©¯õÍº uß ö\õ¢u¨ £¯ÝUPõP ¹. 2,000 

©v¨¦ÒÍ \μUøP GkzxU öPõshøu G¢u 

Hmi¾® £vÄ ö\´¯¨£hÂÀø». 

  (iii) öPõÒ•uÀ HmiÀ AvP©õP Tmi GÊv¯x  

¹. 10,000. 

  (iv) ÂØ£øÚ v¸¨£ HmiÀ AvP©õP Tmi GÊv¯x 

¹. 2,500. 

Or 

 (b) Prepare a bank reconciliation statement from the 
following data as on 31.12.2003. 

  (i) Balance as per cash book Rs. 12,500 

  (ii) Cheques issued but not presented for payment 
Rs. 900 

  (iii) Cheques deposited in bank but not collected 
Rs. 1,200 

  (iv) Bank paid insurance premium Rs. 500. 

  (v) Direct deposit by a customer Rs. 800 

  (vi) Interest on Investment collected by bank  
Rs. 200 

  (vii) Bank charges Rs. 100. 
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  31.12.2003–ØPõÚ RÌUPsh uPÁÀPÎ¼¸¢x 

Á[Q\›UPmk® £mi¯ø»z u¯õ›UPÄ®. 

  (i) öμõUP Hmiß £i ¹. 12,500. 

  (ii) AÎzu Põ÷\õø»PÎÀ CxÁøμ ö\¾zxøPUS 

•ßÛÖzu¨£hõuøÁ ¹. 900. 

  (iii) Á[Q°À ö\¾zv¯ Põ÷\õø»PÎÀ Á`¼zx 

ÁμÄ øÁUP¨£hõuøÁ ¹. 1,200. 

  (iv) Á[Q ö\¾zv¯ Põ¨¥mkU Pmhn® ¹. 500. 

  (v) ÁõiUøP¯õÍº ÷|μi¯õP Á[QUS ö\¾zv¯x 

¹. 800. 

  (vi) Á[Q Á`¼zu •u½k «uõÚ Ámi ¹. 200. 

  (vii) Á[Q Pmhn® ¹. 100. 

13. (a) On 1.1.2007 a machinery was purchased for  
Rs. 30,000. On 31.12.2010 the machinery was sold 
for Rs. 15,000. Depreciation was charged on original 
cost method at 10% p.a. Prepare machinery 
account. 

  1.1.2007–À ¹. 30,000 ©v¨¦ÒÍ C¯¢vμ® 

Áõ[P¨£mhx. 31.12.2010 AßÖ C¯¢vμ®  

¹. 15,000–US ÂØP¨£mhx. Esø©¯õÚ AhUPÂø» 

•øÓ°À 10 \uÃu® ÷u´©õÚ® J¸ BskUS 

ÂvUP¨£kQÓx. C¯¢vμU PnUS u¯õº ö\´P. 

Or 

 (b) What are the Characteristics of depreciation? 

  ÷u´©õÚzvß C¯À¦PÒ ¯õøÁ? 

14. (a) On March 10th, A sold goods to B and draw a bill at 
three months for Rs. 800, which B accepts 
immediately and returns it to A. The bill is 
honoured on the due date. Pass entries in the books 
of both A and B. 
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  ©õºa 10–® ÷uv¯ßÖ H \μUøP ¤–°h® ÂØÓõº ©ØÖ® 

‰ßÖ ©õuzvØPõÚ ¹. 800 ©v¨¦ÒÍ ÁøμÄa ^møh 

GÊvÚõº. ¤ AuøÚ HØÖUöPõsk EhÚi¯õP  

H–°h® v¸®£ J¨£øhzuõº. uÁønz ÷uv¯ßÖ 

©õØÖa^mk ©vUP¨£mhx. H ©ØÖ® ¤ HmiÀ 

SÔ¨÷£mk¨ £vÄPøÍ GÊxP. 

Or 

 (b) Prepare Trading Account of Anand for the year 
ended 31.12.2007. 
 Rs. 

Opening stock 40,000

Purchases 4,30,000

Carriage inwards 26,000

Carriage outwards 5,000

Wages 12,000

Sales 7,20,000

Purchase returns 5,000

Sales returns 18,000

Salaries 15,000

Rent 7,500

Closing stock 50,000

  31.12.2007 Ehß •iÁøh²® BsiØPõÚ BÚ¢vß 

Â¯õ£õμ PnUQøÚ u¯õ›UPÄ®. 

 ¹. 

xÁUP \μUQ¸¨¦ 40,000

öPõÒ•uÀ 4,30,000

EÒyUSU T¼ 26,000

öÁÎyUSU T¼ 5,000
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 ¹. 

T¼ 12,000

ÂØ£øÚ 7,20,000

öPõÒ•uÀ v¸¨£® 5,000

ÂØ£øÚ v¸¨£® 18,000

\®£Í® 15,000

ÁõhøP 7,500

CÖv \μUQ¸¨¦ 50,000

15. (a) A fire occurred on 10.4.12 in the premises of a 

company. From the following particulars ascertain 

the amount of claim to be lodged in case of the loss 

of stock which was insured. 

  Stock on 1.1.12 – Rs. 1,25,000; Purchase (1.1.12 – 

10.4.12) – Rs. 5,00,000; Wages (1.1.12 – 10.4.12) – 

Rs. 1,00,000; Sales (1.1.12 – 10.4.12) – Rs. 7,50,000; 

Manufacturing Expenses (1.1.12 – 10.4.12) –  

Rs.  50,000. 

  The gross profit ratio is 15%. The stock salvaged 

was estimated at Rs. 37,500. 

  J¸ P®ö£Û°ß ÁÍõPzvÀ 2012–® Á¸h® H¨μÀ  

10–® ÷uv w Â£zx HØ£mkÒÍx. ÂØ£øÚ¯õPõu 

\μUQøÚ Põ¨¥k ö\´¯¨£mkÒÍx. R÷Ç 

öPõkUP¨£mkÒÍ Â£μ[PøÍ øÁzx GÆÁõÖ 

Põ¨¥k ÷Pm¦›ø©ø¯ PnUQh ÷Ásk®. 
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  \μUS C¸¨¦ (1.1.12) – ¹. 1,25,000; öPõÒ•uÀ 

(1.1.12 – 10.4.12) – ¹. 5,00,000; T¼ (1.1.12 – 
10.4.12) – ¹. 1,00,000; ÂØ£øÚ (1.1.12 – 10.4.12) – 
¹. 7,50,000; EØ£zvUPõÚ ö\»Ä (1.1.12 – 10.4.12) –  
¹.  50,000. 

  ö©õzu »õ£ ÂQu® 15 \uÂQu©õS®. w Â£zv¼¸¢x 

÷\ªzx øÁUP¨£mh \μUQß ©v¨¥k ¹. 37,500. 

Or 

 (b) Write a note on ‘‘Average clause” in Fire Claim. 

  wUPõ¨¥miÀ \μõ\› \μzxUPÒ SÔzu SÔ¨¦ ÁøμP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Pass journal entries for the following transactions in the 
books of Kannan. 

 2007 Jan. 1 Kannan started business with Rs. 50,000 

 2007 Jan. 5 Bought goods for cash Rs. 30,000 

 2007 Jan. 7 Sold goods for cash Rs. 25,000 

 2007 Jan. 10 Bought goods from Kalaimathi Rs. 20,000 

 2007 Jan. 12 Sold goods to Ravi Rs. 10,000 

 2007 Jan. 15 Paid salary Rs. 1,000 

 2007 Jan. 18 Dividend received Rs. 5,000 

 2007 Jan. 25 Paid rent Rs. 2,000. 

 RÌUPsh |hÁiUøPPÐUS Psnß Gß£Áº HmiÀ 

SÔ¨÷£mk¨ £vÄPøÍz u¸P. 

 2007 áÚÁ› 1  Psnß öuõÈÀ öuõh[Q¯x ¹. 50,000 

 2007 áÚÁ› 5  öμõUPzvØS öPõÒ•uÀ ö\´ux ¹. 30,000 

 2007 áÚÁ› 7  öμõUPzvØS ÂØ£øÚ ö\´ux ¹. 25,000 
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 2007 áÚÁ› 10 Pø»©v°hª¸¢x ö£õ¸mPÒ Áõ[Q¯x 

¹. 20,000 

 2007 áÚÁ› 12 μÂUS ö£õ¸mPÒ ÂØÓx ¹. 10,000 

 2007 áÚÁ› 15 \®£Í® öPõkzux ¹. 1,000 

 2007 áÚÁ› 18 £[Põuõ¯® ö£ØÓx ¹. 5,000 

 2007 áÚÁ› 25 ÁõhøP ö\¾zv¯x ¹. 2,000. 

17. Prepare a Bank Reconciliation Statement as at June 30, 
2007. 

 (a) Bank overdraft as per cash book Rs. 1,10,450 

 (b) Cheques issued on June 20, 2007 but not yet 
presented for payment Rs. 15,000 

 (c) Cheques deposited but not yet credited by bank  
Rs. 22,750 

 (d) Bills receivable directly collected by bank Rs. 47,200 

 (e) Interest on overdraft debited by bank Rs. 12,115 

 (f) Amount wrongly debited by bank Rs. 2,400. 

 30.6.2007–® |õÍßøÓ¯ Á[Q \›UPmk® £mi¯À JßøÓ 

u¯õ›UP :  

 (A) öμõUP Hmiß ÷©ÀÁøμ¨£ØÖ ¹. 1,10,450 

 (B) áúß 20, 2007–À Âkzu Põ÷\õø»PÒ 

£n©õUP¨£hõuøÁ ¹. 15,000. 

 (C) ö\¾zv¯ Põ÷\õø»PÒ ¹. 22,750 CßÝ® Á[Q°À 

£ØÖ øÁUP¨£hÂÀø». 

 (D) ö£ÖÁuØS›¯ ©õØÖa^mk ¹. 47,200 I Á[Q 

÷|μi¯õP Á`¼zux. 

 (E) ÷©ÀÁøμ¨ £ØÔß «uõÚ Ámi ¹. 12,115 Á[Q¯õÀ 

£ØÖ øÁUP¨£mhx. 

 (F) uÁÖu»õP Á[Q¯õÀ ÁμÄ¨£zv°À £v¯¨£mhx  

¹. 2,400. 
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18. Two machines were bought on 1.1.2006 each for  

Rs. 10,000. Depreciation was provided at 10% under 
Straight line method on every 31st December. One of the 
machine was sold on 1.7.2008 for Rs. 5,500 and another 
machine was bought for Rs. 14,000. Show the machinery 
account upto 31.12.2008. 

 1.1.2006–À u»õ ¹. 10,000 ©v¨¦ÒÍ Cμsk C¯¢vμ[PÒ 

Áõ[P¨£mhÚ. JÆöÁõ¸ Bsk® 10% i\®£º 31–À 

÷|º÷Põmk •øÓ°À ÷u´©õÚ® JxUP¨£mhx. 1.7.2008–À 

AøÁPÎÀ J¸ C¯¢vμ® ¹. 5,500 ÂØP¨£mhx. ©ØöÓõ¸ 

C¯¢vμ® ¹. 14,000–US Áõ[P¨£mhx. 31.12.2008 Áøμ 

C¯¢vμU PnUøPz u¯õ›UPÄ®. 

19. From the following balances prepare trading and profit 
and loss account for the year ending 31.12.2006 and 
balance sheet as on that date. 
Debit balance Rs. Credit balance Rs. 

Salaries 5,500 Creditors 9,500

Rent 1,300 Sales 32,000

Cash 1,000 Capital 30,000

Debtors 40,000 Loan 10,000

Sundry expenses 600  

Purchases 25,000  

Buildings 2,500  

Bank balance 5,600  

 81,500  81,500

 Adjustments : 

 (a) Closing stock Rs. 9,000 

 (b) Salary outstanding amounted to Rs. 1,100 

 (c) Rent paid in advance Rs. 100 

 (d) Provide 5% for doubtful debt against debtors. 
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 ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x 31.12.2006 B® BskUS›¯ 

Â¯õ£õμ ©ØÖ® C»õ£ |mhU PnUS ©ØÖ® C¸¨¦{ø»U 

SÔ¨ø£ u¯õ›UPÄ®. 

£ØÖ C¸¨¦ ¹. ÁμÄ C¸¨¦ ¹. 

\®£Í® 5,500 PhÜ¢÷uõº 9,500

ÁõhøP 1,300 ÂØ£øÚ 32,000

öμõUP® 1,000 •uÀ 30,000

PhÚõÎPÒ 40,000 Phß 10,000

Cuμ ö\»ÄPÒ 600  

öPõÒ•uÀ 25,000  

Pmih® 2,500  

Á[Q°¸¨¦ 5,600  

 81,500  81,500

 \›UPmkuÀPÒ :  

 (A) CÖv \μUQ¸¨¦ ¹. 9,000 

 (B) öPõk£h ÷Ási¯ \®£Í öuõøP ¹. 1,100 

 (C) •ßTmi÷¯ ö\¾zv¯ ÁõhøP ¹. 100 

 (D) PhÚõÎPÎÀ 5 \uÂQu® Áõμõ I¯UPhß JxUSP. 

20. A fire occurred in the premises of Mr. Ram on 31st March 
2008. From the following particulars, ascertain the claim 
to be lodged. 

 Purchases during the year 2007 Rs. 18,55,000 

 Purchases returns during the year 2007 Rs. 15,000 

 Goods taken by Mr. Ram for his personal use during the 
year 2007 Rs. 10,000 

 Stock on 31.12.2007 Rs. 6,30,000 

 Stock on 1.1.2007 Rs. 4,50,000 
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 Sales for the year 2007 Rs. 20,60,000 

 Sales returns during the year 2007 Rs. 60,000 

 Purchases from 1.1.2008 to the date of fire Rs. 4,20,000 

 Sales from 1.1.2008 to the date of fire Rs. 4,95,000 

 Value of stock saved Rs. 99,000 

 Goods destroyed by fire during the year 2007 Rs. 30,000. 

 ©õºa 31, 2008 AßÖ v¸. μõ® AÁºPÎß ÁÍõPzvÀ w 

¤izux. RÌUPõq® uPÁÀPÎ¼¸¢x \©º¨¤UP¨£h 

÷Ási¯ ÷Põ›UøP öuõøP°øÚU PnUQkP :  

 2007–® BsiÀ öPõÒ•uÀ ¹. 18,55,000 

 2007–® BsiÀ öPõÒ•uÀ v¸¨£® ¹. 15,000 

 2007–® BsiÀ v¸. μõ® ö\õ¢u E£÷¯õPzvØPõP GkzxU 

öPõsh \μUS ¹. 10,000 

 31.12.2007–À \μUQ¸¨¦ ¹. 6,30,000 

 1.1.2007–À \μUQ¸¨¦ ¹. 4,50,000 

 2007–À ÂØ£øÚ ¹. 20,60,000 

 2007–À ÂØ£øÚ v¸¨£® ¹. 60,000 

 1.1.2008 •uÀ w HØ£mh |õÒ Áøμ öPõÒ•uÀ ¹. 4,20,000 

 1.1.2008 •uÀ w HØ£mh |õÒ Áøμ ÂØ£øÚ ¹. 4,95,000 

 \μUS Põ¨£õØÓ¨£mhuß ©v¨¦ ¹. 99,000 

 2007–® BsiÀ \μUSPÒ w°ÚõÀ AÈ¢uøÁ ¹. 30,000. 

———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2015 

First Semester 

Commerce with Computer Application 

FUNDAMENTALS OF COMPUTER 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Computer. 

 Po¨ö£õÔ Áøμ¯Ö. 

2. What is Hardware? 

 Hardware GßÓõÀ GßÚ? 

3. Expand LAN. 

 LAN&ø¯ Â›Ä£kzxP. 

4. What is Interconnecting Network? 

 Interconnecting Network GßÓõÀ GßÚ? 

5. What is operating system? 

 Operating system GßÓõÀ GßÚ? 

Sub. Code 
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6. What is DOS? 

 DOS GßÓõÀ GßÚ? 

7. What is file security? 

 ÷Põ¨¦ £õxPõ¨¦ GßÓõÀ GßÚ? 

8. What is UNIX? 

 UNIX GßÓõÀ GßÚ? 

9. What is Windows Explorer? 

 Windows Explorer GßÓõÀ GßÚ? 

10. What is GUI? 

 GUI GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) State the functions of computer. 

  Po¨ö£õÔ°ß £oPøÍ u¸P. 

Or 

 (b) Write a note on “Software Evolution”. 

  ö©ßö£õ¸Ò ÁÍºa] SÔzx GÊxP. 

12. (a) Explain the working of LAN. 

  LAN &ö\¯À£õmiøÚ ÂÍUSP. 

Or 

 (b) Write short note on “Communication Media”. 

  Communication Media SÔzx ]Ö SÔ¨¦ ÁøμP. 
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13. (a) State any five MS-DOS Command. 

  MS-DOS Command&°ß H÷uÝ® I¢x PmhøÍPøÍ 

u¸P. 

Or 

 (b) What are the functions of operating system? 

  Operating system&°ß £oPÒ ¯õøÁ? 

14. (a) Write about working of file in UNIX. 

  UNIX&°ß ÷Põ¨¦ ö\¯À£õmiøÚ £ØÔ GÊxP. 

Or 

 (b) What are the features of UNIX? 

  UNIX&°ß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

15. (a) Explain the format of Window. 

  Window&°ß Pmhø©¨¤øÚ ÂÍUSP. 

Or 

 (b) What are the features of Windows 98? 

  Windows 98&°ß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Describe the uses of computers. 

 Po¨ö£õÔ°ß £¯ß£õmiøÚ ÂÁõv. 

17. Discuss about the working of TCP/IP. 

 TCP/IP°ß ö\¯À£õmiøÚ ÂÁõv. 
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18. State the various classification of operating system. 

 Operating system&°ß £À÷ÁÖ ÁøPPøÍ u¸P. 

19. Write about file security in UNIX. 

 UNIX&°ß ÷Põ¨¦ Pmk¨£õk SÔzx GÊxP. 

20. Describe the salient features of Window NT. 

 Window NT&°ß ]Ó¨¤¯À¦PøÍ ÂÁõv. 

———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2015 

Commerce with Computer Application 

Allied — BANKING THEORY 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

       Part A  (10  2 = 20) 

Answer all questions. 

1. What is Commercial Bank? 

 ÁoP Á[Q GßÓõÀ GßÚ? 

2. Define UNIT Banking. 

 uÛ Á[Q •øÓ – Áøμ¯Ö. 

3. What is recurring deposit? 

 öuõhº øÁ¨¦U PnUS GßÓõÀ GßÚ? 

4. What is credit card? 

 Phß AmøhPÒ GßÓõÀ GßÚ? 

5. What is regional rural banks? 

 Ámhõμ Qμõ© Á[Q GßÓõÀ GßÚ? 

6. What do you mean credit creation? 

 Phß E¸ÁõUP® GßÓõÀ GßÚ? 

Sub. Code 
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7. What is meant by Banker’s Bank? 

 Á[Q¯›ß Á[Q GßÓõÀ GßÚ? 

8. What is Bill Market? 

 Esi¯À \¢øu GßÓõÀ GßÚ? 

9. What is Non-performing assets? 

 ö\¯À£hõ ö\õzxUPÒ GßÓõÀ GßÚ? 

10. Define E-Banking. 

 ªß Á[Q¯À – Áøμ¯Ö. 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) What is Branch Banking? State its merits and 
demerits. 

  QøÍ Á[Q GßÓõÀ GßÚ? Auß |ßø©PÒ ©ØÖ® 

wø©PÒ ¯õøÁ? 

Or 

 (b) Distinguish between  unit banking and branch 
banking. 

  uÛ Á[Qø¯²®, QøÍ Á[Qø¯²® ÷ÁÖ£kzxP. 

12. (a) What are the primary functions of commercial 
banks? 

  ÁoP Á[Q¯›ß •ußø©¨ £oPÒ ¯õøÁ? 

Or 

 (b) Write about social responsibility of banks. 

  Á[Q¯›ß \•uõ¯ ö£õÖ¨¦PÒ SÔzx GÊxP. 
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13. (a) State the important consideration of bank 

investment. 

  Á[Q •u½miß •UQ¯ TÖPøÍ u¸P. 

Or 

 (b) What are the objectives and functions of Regional 
Rural Banks (RRB)? 

  Ámhõμ ÁÍºa] Á[Q°ß ÷|õUP[PÒ ©ØÖ® £oPÒ 

¯õøÁ? 

14. (a) Describe about qualitative credit control measures. 

  Phß ußø©U Pmk¨£õkPÒ SÔzx ÂÁ›. 

Or 

 (b) Explain the powers of Banks under BRA 1949. 

  Á[Q JÊ[PõØÖ \mh® 1949–°ß £i Á[Q°ß 

AvPõμ[PøÍ ÂÍUSP. 

15. (a) Write a note on ‘‘Capital Adequacy Norms’’. 

  ‰»uÚ AÍÄ SÔzu \μzxUPøÍ GÊxP. 

Or 

 (b) State the merits and demerits of privatisation of 
Banks. 

  Á[QPÒ uÛ¯õº©¯©õSu›ß |ßø©PÒ ©ØÖ® 

wø©PøÍ u¸P. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Briefly explain the various classification of Banks. 

 Á[Q°ß £À÷ÁÖ ÁøP¨£õkPøÍ ÂÁ›. 

17. Describe about modern services of Commercial Banks. 

 ÁoP Á[Q¯›ß |ÃÚ £oPøÍ ÂÁõv. 
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18. Explain the techniques of Credit Creation. 

 Phß E¸ÁõUSuÀ |øh•øÓ°øÚ ÂÍUSP. 

19. What are the functions of RBI? 

 RBI–°ß £oPÒ ¯õøÁ? 

20. Write a detailed note about ‘‘Banking Ombudsman 
Scheme’’. 

 Banking Ombudsman Scheme SÔzx SÔ¨¦ ÁøμP. 

———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2015 

Second Semester 

Commerce with Computer Application 

ADVANCED ACCOUNTANCY — II 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Income and Expenditure Account? 

 Á¸Áõ´ ©ØÖ® ö\»ÂÚ PnUS GßÓõÀ GßÚ? 

2. What is Subscription? 

 \¢uõ GßÓõÀ GßÚ? 

3. What do you mean by Account Current? 

 |h¨¦ PnUS GßÓõÀ GßÚ? 

4. What is Average Due Date? 

 \μõ\› uÁøn |õÒ GßÓõÀ GßÚ? 

5. What is Consignment? 

 AÝ¨¥k GßÓõÀ GßÚ? 

Sub. Code 
4BCC2C1 
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6. What is Abnormal Loss? 

 A\õuõμn |mh® GßÓõÀ GßÚ? 

7. Define Joint Venture. 

 CønÂøÚ Áøμ¯Ö. 

8. Who is Co – Ventures? 

 CønÂøÚ¯õÍº Gß£Áº ¯õº? 

9. What is Net-worth method? 

 ö©õzu ©v¨¥mk •øÓ GßÓõÀ GßÚ? 

10. What is meant by Single – Entry system? 

 JØøÓ¨ £vÄ •øÓ Gß£uß ö£õ¸Ò ¯õx? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) How will subscriptions item appear in the final 
accounts of Gawaskar Sports Club of the year ended 
31st December 2004? 

  Subscriptions received during the year Rs. 15,000 

  Subscription includes (outstanding) accrued at the 
end of 2003 Rs. 2,000 

  Subscriptions received in advance on 31.12.2003  
Rs. 1,000 

  Subscriptions received in advance on 31.12.2004  
Rs. 3,000 

  Subscriptions (outstanding) accrued on 31.12.2004 
Rs. 5,000 
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  31.12.2004À •i²® BsiÀ PÁõìPº Q›UöPm 

QÍ¨¤ß CÖvU PnUQÀ \¢uõ öuõøP GÆÁõÖ Ch® 

ö£Ö®? 

  C¢u BsiÀ ö£ØÓ \¢uõ ¹. 15,000 

  2003 CÖv°À £õUQ¯©õP C¸¢uõ \¢uõ uØ÷£õx 

Á`»õÚx ¹. 2,000 

  31.12.2003 •ß Tmi¨ ö£ØÓ \¢uõ ¹. 1,000 

  31.12.2004 À •ß Tmi¨ ö£ØÓ \¢uõ ¹. 3,000 

  31.12.2004 À £õUQ¯©õP EÒÍ \¢uõ ¹. 5,000 

Or 

 (b) From the following particulars, prepare income and 
expenditure account of the Central Sports Society 
for the period ending 31st March 2004. 

     Received or 
paid 

Outstanding 
on 31.3.2004

 Rs. Rs. 

Subscription from members 4,600 – 

Subscription from societies 1,400 – 

Life membership fees 2,000 – 

Gift received 3,000 – 

Interest received 160 – 

Committee expenditure 1,500 200 

Executive expenditure 1,440 640 

Planning Tournament 420 120 

Printing, Postage 1,140 160 

Office Furniture 2,000 – 

Investments purchased 3,000 – 
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  31.3.04 Cß £i ÁμÄ ö\»Ä PnUS u¯õ›UP. 

ÂÁμ® ö£ØÓ/öPõkzux 31.3.2004À 

{¾øÁ 

 ¹. ¹. 

ö£ØÓ \¢uõ 4,600 – 

ö\õø\m°h® ö£ØÓ \¢uõ 1,400 – 

B²Ò \¢uõ 2,000 – 

Aß£Î¨¦ ö£ØÓx 3,000 – 

ö£ØÓ Ámi 160 – 

Pªmi ö\»ÄPÒ 1,500 200 

GUêmiÆ ö\»ÄPÒ 1,440 640 

vmhªhÀ ÷£õmi 420 120 

Aa\P ö\»ÄPÒ 1,140 160 

©øÚ Ao¯[PÒ 2,000 – 

•u½kPÒ Áõ[Q¯x 3,000 – 

12. (a) A partner has withdrawn the following sums from 
business for his personal use during of the half year 
ending 30th June 2004. 

 Rs. 

10th January 2,000

18th February 1,200

5th March 600

12th April 800

21st May 1,000 

1st June  600

  Find out the average due date and calculate interest 
at the rate of 10% pa. 
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  2004 áúß 30 AßÖ •iQßÓ Aøμ¯õsiÀ J¸ 

TmhõÎ uÚx ö\õ¢u ö\»ÂØPõP RÌUPsh 

öuõøPPøÍz öuõÈ¼À C¸¢x Gk¨¦ ö\´v¸UQÓõº. 

 ¹. 

áÚÁ› 10 2,000

¤¨μÁ› 18 1,200

©õºa 5 600

H¨μÀ 12 800

÷© 21 1,000 

áúß 1 600

  \μõ\› uÁøn |õøÍU Psk¤i. Bsk JßÖUS  

10 \uÃu® Ámi PnUQkP. 

Or 

 (b) Make out an account current to submitted to ‘X’ by 
‘Y’ on 30th June 2008. The following transactions in 
the books of ‘X’.  

2008  Rs. 

January 1 ‘X’ sells goods to ‘Y’ 1,000

January 15 ‘Y’ sells goods to ‘X’ 800

February 4 ‘X’ sells goods to ‘Y’ 500

  Interest to be taken into account at 10% per annum. 

  áúß 30, 2008® |õ÷Íõk •iÁøh²® GUì Ehß J´ 

|h¨¦U PnUS u¯õ›UP. ¤ßÁ¸® |hÁiUøPPÒ GUì 

HkPÎÀ EÒÍÚ. 

2008  ¹. 

áÚÁ› 1 GUì&J´US \μUS ÂØÓx 1,000

áÚÁ› 15 J´&GUìUS \μUS ÂØÓx 800

¤¨μÁ› 4 GUì&J´US \μUS ÂØÓx 500

  Bsk JßÖUS Ámi 10 \uÃu® PnUQh¨£kQÓx. 
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13. (a) 200 tonnes of a commodity have been consigned at a 

cost of Rs. 400 per tone and the consignor has spent 
Rs. 2,400 toward freight. Due to improper packing 
of the goods, 5 tonnes have been badly damaged in 
transit. Calculated the abnormal loss. 

  J¸ hß ¹. 400 Ãu® 200 hßPÒ AÝ¨¥k 

ö\´¯¨£mhx. AÝ¨¥k ö\´uÁº ¹. 2,400 ö\»Ä 

ö\´uõº. 5 hßPÒ ÷£õUSÁμzvß ÷£õx ÷\u©õQÚ. 

A\õuõμn |mhzøuU PnUQkP. 

Or 

 (b) Mr. Ramu consigned 2,000 kg of Ginerly oil costing 
Rs. 15,000. He paid freight and insurance Rs. 300 and 
Rs. 200 respectively. Mr. Y, the consignee, received 
the consignment and incurred Rs. 300 towards 
loading charges and cartage. He sold 1,800 kg oil and 
reported the balance of stock as 150 kg. 

  Find out the value of closing stock. 

  μõ• 2,000 Q÷»õ Gsönø¯ AÝ¨¥k ö\´uõº. Cuß 

©v¨¦ ¹. 15,000 AÁº ÷£õUSÁμzx ©ØÖ® Põ¨¥k 

ö\»ÁõP •øÓ÷¯ ¹. 300 ©ØÖ® ¹. 200 ö\»Âmhõº. 

AÝ¨¥k ö£Ö|μõÚ J´ ¹. 300 ö\»Ä ö\´uõº. AÁº 

1,800 Q÷»õ Gsönø¯ ÂØÓõº. øP°¸¨¦ \μUS  

150 Q÷»õ. 

  CÖva \μUQß ©v¨ø£U Psk¤i. 

14. (a) X and Y both contractors under took a joint venture 
for construction of a building. A joint bank account 
was opened in which X deposited Rs. 25,000 and Y 
deposited Rs. 15,000. 

  Their transactions were as follows : 

  Paid wages Rs. 2,000 

  Materials supplied by ‘X’ Rs. 5,000 

  Pass the journal entries. 
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  GUì ©ØÖ® J´ C¸Á¸® J¨£¢uUPõμºPÒ. AÁºPÒ 

C¸Á¸® Pmhh® PmkÁuß ö£õ¸mk J¸ Cøn 

Á[Q P/S öuõh[P¨£mk AvÀ GUì ¹. 25,000®, J´ 

¹. 15,000® ö\¾zvÚº. 

  Ax SÔzu |hÁiUøPPÒ Á¸©õÖ : 

  T¼ öPõkzux ¹. 2,000 

  GUì ÁÇ[Q¯ ‰»¨ö£õ¸Ò ¹. 5,000 

  SÔ¨÷£mk¨ £vÄPÒ u¸P. 

Or 

 (b) Distinguish between Consignment and Joint 
Venture. 

  AÝ¨¥møh²® Cøn ÂøÚ²® ÷ÁÖ£kzxP. 

15. (a) The position of a business man who keeps his books 
on single entry was as under on 31.12.10 and 
31.12.11. 
 2010 (Rs.) 2011 (Rs.)

Cash in hand 400 480

Cash at bank 6,000 2,500

Stock 6,500 5,000

Debtors 4,000 5,200

Furniture 300 350

Sundry creditors 4,100 3,100

  He withdraws Rs. 7,500 from business on 2.1.11 out 
of which he spent Rs. 5,200 for purchase of a motor 
truck for the business. 

  Adjustments : 

  (i) Depreciation on closing balances of furniture 
and truck at 10% 

  (ii) Write off Rs. 220 as bad debts  

  (iii) 5% provision for bad debts is needed. 

   Find out the profit/loss for the year. 
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  31.12.2010 ©ØÖ® 31.12.2011 AßøÓ¯ ÷uv°À 

JØøÓ £vÄ •øÓ°ß RÌ PnUSPøÍ øÁzxÒÍ J¸ 

Â¯õ£õ›°ß {ø»ø© ¤ßÁ¸©õÖ : 

 2010 (¹.) 2011 (¹.)

øP°¸¨¦ öμõUP® 400 480
Á[Q°À öμõUP® 6,000 2,500
\μUQ¸¨¦ 6,500 5,000
PhÚõÎPÒ 4,000 5,200
AøÓP»ß 300 350
£Ø£» PhÜ¢÷uõºPÒ 4,100 3,100

  AÁº Â¯õ£õμzv¼¸¢x ¹. 7,500 2.1.11 AßÖ Gkzx 

Av¼¸¢x ¹. 5,200 Â¯õ£õμzvØS J¸ ÷©õmhõº 

Ási Áõ[QÚõº. 

  \›UPmhÀPÒ : 

  (i) AøÓP»ß ©ØÖ® ÷©õmhõº Ási°ß CÖv 

C¸¨¤À 10 \uÃu® ÷u´©õÚ® CkP. 

  (ii) ¹. 220 ÁμõUPhß GÊxP. 

  (iii) I¯UPhß JxUS 5 \uÃu® ÷uøÁ¨£kQÓx. 

   AÆÁ¸hzvÀ HØ£h C»õ£|èh[PøÍ 

Psk¤i. 

Or 

 (b) From the following details, calculate total sales 
made during the year 2008 : 

 Rs. 
Debtors (1.1.08) 17,425
Debtors (31.12.08) 15,300
Cash received from debtors 49,200
Sales returns 3,700
Bad debts 2,500
Discount allowed 1,800
Bills receivable 5,000
Cash sales 12,000
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  RÌUPõq® Â£μzv¼¸¢x, 2008® BsiØPõÚ 

ö©õzu ÂØ£øÚø¯U Psk¤i. 

 ¹. 

PhÚõÎPÒ (1.1.08) 17,425

PhÚõÎPÒ (31.12.08) 15,300

PhÚõÎPÎhª¸¢x ö£ØÓ öμõUP® 49,200

ÂØ£øÚz v¸¨£® 3,700

ÁμõUPhß 2,500

uÒÐ£i AÝ©vzux 1,800

ÁμÂØS›¯ ©õØÖa^mk 5,000

öμõUP ÂØ£øÚ 12,000

 Part C  (3  10 = 30) 

Answer any three questions. 

16. The following is the receipts and payments account of 
Kannan recreation club for the year ended 31st March 
2007. 

Receipts Rs. Rs. Payments Rs. 

To Balance b/d  7,000 By Salaries 28,000 

To Subscriptions   By General expenses 6,000 

2005-2006 5,000  By electricity 4,000 

2006-2007 20,000  By Books purchased 10,000 

2007-2008 4,000 29,000 By Periodicals  8,000 

To rent for use of    By Loan repaid  20,000 

  conference room  14,000 By Balance c/d 4,000 

To Receipts from      

  entertainment     

  facilities  28,000   

To sale of old      

  magazines  2,000   

  80,000  80,000 
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 Additional information : 

 (a) The club has 50 members, each paying Rs. 500 per 
year as subscription 

 (b) Subscriptions outstanding on 31.3.2007 Rs. 6,000 

 (c) Salaries outstanding Rs. 2,000 

 (d) On 1.4.2006 the club’s properties were : 

  Buildings Rs. 2,00,000 and 

  Furniture and fittings Rs. 20,000 

 (e) Provide 10% depreciation on Buildings and 
Furniture. Prepare Income and Expenditure 
account for the year ending 31.3.2007. 

 31.3.2007À •iÁøh²® BsiØPõÚ ö£ÖuÀ ©ØÖ® 

ö\¾zxuÀ PnUS ¤ßÁ¸ÁÚ. 

ö£ÖuÀ ¹. ¹. ö\¾zxuÀ ¹. 

C¸¨¦ R/öPõ  7,000 \®£Í® 28,000 

\¢uõ :   ö£õxa ö\»ÄPÒ 6,000 

2005-2006 5,000  ªß Pmhn® 4,000 

2006-2007 20,000  ¦zuP öPõÒ•uÀ 10,000 

2007-2008 4,000 29,000 £zv›øPPÒ Áõ[Q¯x 8,000 

P¸zuμ[P AøÓ°ß   Phß v¸¨¤ ö\¾zv¯x 20,000 

 ÁõhøP ÁμÄ  14,000 C¸¨¦ R/C 4,000 

ö£õÊx÷£õUS      

  {PÌa]PÎß ‰»®      

  ö£ØÓx  28,000   

£øÇ¯ £zv›øPPÒ      

  ÂØÓx  2,000   

  80,000  80,000 

 TkuÀ uPÁÀPÒ : 

 (A) A¢u PÇPzvß EÖ¨¤ÚºPÎß GsoUøP 50. 

JÆöÁõ¸ EÖ¨¤Ú¸® BsiØS ¹. 500 \¢uõ 

ö\¾zxQÓõºPÒ 

 (B) 31.3.2007 \¢uõ {¾øÁz öuõøP ¹. 6,000 
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 (C) {¾øÁ°¾ÒÍ \®£Í® ¹. 2,000 

 (D) 1.4.2006À AUPÇPzvß ö\õzxUPÒ Pmih®  

¹. 2,00,000 ©ØÖ® AøÓP»ß ¹. 20,000 

 (E) Pmih® ©ØÖ® AøÓP»ßPÐUS ÷u´©õÚ® JxURk 

10 \uÃu® 31.3.2007 |õÍßÖ •iÁøh²® BsiØS 

Á¸Áõ´ ©ØÖ® ö\»ÂÚ PnUS u¯õº ö\´P. 

17. From the following transactions in the books of Anand 
prepare an account current to be sent by Anand to Basu 
for the quarter ending 31.3.2007 charging interest at  
12% pa. 
2007   

January 1 Balance in Basu’s account (Debit) Rs. 3,000 

January 14 Sold goods to Basu Rs. 5,000 

February 11 Cash received from Basu Rs. 4,000 

February 17 Sold goods to Basu Rs. 3,000 

February 19 Received from Basu a bill of exchange one 
month after date Rs. 5,000 

 BÚ¢z Hmi¾ÒÍ RÌUPsh |hÁiUøPPÎ¼¸¢x 

£õ_ÂØS BÚ¢z \©º¤UP ÷Ási¯ 31.3.2007UPõÚ 

Põ»õsk |øh•øÓ PnUQøÚ u¯õ›UPÄ®. Á¸hzvØS 12 

\uÃu® Ámi PnUQhÄ®. 

2007   

áÚÁ› 1 £õ_ÂØS PnUQ¸¨¦ (£ØÖ) ¹. 3,000 

 14 £õ_ÂØS \μUS ÂØÓx ¹. 5,000 

¤¨μÁ› 11 £õ_Âhª¸¢x ö£ØÓ öμõUP® ¹. 4,000 

 17 £õ_ÂØS \μUS ÂØÓx ¹. 3,000 

 19 £õ_Âhª¸¢x J¸ ©õu uÁøn°À ö£ØÓ 

©õØÖa^mk ¹. 5,000 
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18. Balan of Bangalore consigned 190 bags of rice to Rajesh 

of Calcutta invoicing goods at Rs. 180 per bag. Balan paid 
Rs. 1,200 as cartage and other expenses. The consignor 
drew a bill of exchange for Rs. 12,000 which was later 
discounted at Rs. 11,800. The consignee rendered an 
account sales showing the following details : 

 100 bags sold at Rs. 240 each on credit 

 90 bags sold at Rs. 230 each for cash 

 Freight and carriage Rs. 2,000 

 Transits Insurance Rs. 1,000 

 Storage and Insurance Rs. 1,000 

 Commission at 5%. 

 The consignee sent a sight draft for the amount due. You 
are required to prepare in the Books of consigner 
assuming that the consignee incurred a bad debt of  
Rs. 400. 

 ö£[PÑ›¾ÒÍ £õ»ß, öPõÀPzuõÂ¾ÒÍ μõ÷áè 

Gß£Á¸US 190 ‰møhPÒ A›]ø¯ J¸ ‰møh ¹. 180 

Ãu® AÝ¨¥k ö\´uõº. ÁõhøP ©ØÖ® Cuμ ö\»ÄPÐUS 

¹. 1,200 £õ»ß ö\¾zvÚõº. AÝ¨¥k ö£ØÓÁº  

¹. 12,000US J¸ ©õØÖa^møh GÊvÚõº. ¤ßÚº AuøÚ  

¹. 11,800 Á[Q°À uÒÐ£i ö\´x £n® ö£ØÓõº. 

¤ßÁ¸® Â£μ[PÐhß AÝ¨¥k ö£Ö|º ÂØ£øÚ 

PnUQøÚ \©º¤zuõº. 

 PhÛÀ ¹. 240 Ãu® 100 ‰møhPÒ ÂØP¨£mhÚ 

 öμõUPzvØS ¹. 230 Ãu® 90 ‰møhPÒ ÂØP¨£mhÚ 

 ÁõhøP Pmhn® ¹. 2,000 

 ÷£õUSÁμzx Põ¨¥k ¹. 1,000 

 ÷\ª¨¦ ©ØÖ® Põ¨¥k Pmhn® ¹. 1,000. PÈÄ 5 \uÃu®. 

AÝ¨¥k ö£Ö|º, AÁº öPõkUP¨£h ÷Ási¯ öuõøPUS 

J¸ Áμ÷Áõø»ø¯ AÝ¨¤Úõº. AÝ¨¥k ö£Ö|¸US 

HØ£mh ÁμõUPhß ö\»Ä ¹. 400. AÝ¨¥k ö\´|º HkPÎÀ 

÷uøÁ¯õÚ ÷£÷μk PnUSPøÍ GÊxP. 
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19. ‘D’ and ‘K’ entered into a Joint venture sharing profits 

and losses as 3:2. They opened a Bank A/c. by depositing 
Rs. 40,000 each. ‘D’ purchased 800 kg of an item @ Rs. 60 
per kg and his expenses were Rs. 13,000. ‘K’ purchased a 
second item of 10,000 kg @ Rs. 2.10 per kg and his 
expenses were Its. 11,000. Expenses were met from 
private sources and purchases were paid from Bank 
Accounts. 

 K sold 600 kg of the first item @ Rs. 100 per kg and his 
selling expenses were Rs. 5,500. D sold 8000 kg of the 
second item @ Rs. 5 per kg and his selling expenses were 
Rs. 6,000. All the sale proceeds were deposited in Bank 
Account and Expanses were met from private sources. 

 Write up ledger accounts in the books of venture. 

 j ©ØÖ® ÷P 3:2 GßÓ ÂQuzvÀ C»õ£® ©ØÖ® |mhzøu 

¤›zuÀ £i J¸ CønÂøÚø¯ E¸ÁõUQÚº. AÁºPÒ  

¹. 40,000 £n® ö\¾zv J¸ Á[Q PnUQøÚ Bμ®¤zuÚº. 

 j 800 Q÷»õ \μUQøÚ Q÷»õ JßÔØS ¹. 60 Ãu® 

Áõ[QÚõº. AÁ›ß ö\»ÄPÒ ¹. 13,000. 

 ÷P 10,000 Q÷»õ Gøh°À ©ØöÓõ¸ ö£õ¸øÍ Q÷»õ 

JßÔØS ¹. 2.10 Ãu® Áõ[QÚõº. AÁ›ß ö\»ÄPÒ  

¹. 11,000. ö\»ÂÚ[PÒ uÛ¨£mh £nzv¼¸¢x 

ö\´¯¨£mhx. öPõÒ•u¾US Á[Q PnUQ¼¸¢x £n® 

ö\¾zu¨£mhx. 

  ÷P •u¼À Áõ[Q¯ \μUSPÎÀ 600 Q÷»õøÁ Q÷»õ ¹. 100 

Ãu® ÂØÓõº. AÁ›ß ÂØ£øÚa ö\»Ä ¹. 5,500. 

CμshõÁuõP Áõ[Q¯ ö£õ¸ÎÀ j Q÷»õ ¹. 5 Ãu® 8,000 

Q÷»õ \μUSPøÍ ÂØÓõº. AÁ›ß ÂØ£øÚa ö\»Ä  

¹. 6,000. ÂØ£øÚ°ß ‰»® ö£ØÓ £n® Á[Q°À 

ö\¾zu¨£mhx. ö\»ÂÚ[PÒ uÛ¨£mh £nzv¼¸¢x 

ö\¾zu¨£mhx. 

 ÷uøÁ¯õÚ ÷£÷μmkU PnUSPøÍ {ÖÁÚzvß HkPÎÀ 

u¯õ›UPÄ®. 
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20. From the following details, prepare Trading, P and L a/c 

and Balance sheet. 
 1.1.11 

Rs. 
31.12.11

Rs. 
Creditors 37,500 43,750
Furniture  2,500 2,500
Cash 6,250 10,000
Debtors  62,500 87,500
Stock 25,000 12,500

 Other details : 

 Drawings Rs. 10,000; Bad debts Rs. 1,250; Discount 
received Rs. 3,750; Discount allowed Rs. 2,500; Sundry 
expenses Rs. 7,500; Payment to creditors Rs. 1,12,500; 
Collection from debtors Rs. 1,33,750; Sales returns  
Rs. 3,750; Purchase returns Rs. 1,250; Charge 5% 
depreciation on furniture. 

 R÷Ç öPõkUP¨£mkÒÍ Â£μzv¼¸¢x Â¯õ£õμ, C»õP 

|mh P/S ©ØÖ® C¸¨¦{ø»U SÔ¨ø£ u¯õ›UPÄ®. 

 1.1.11 
¹. 

31.12.11 
¹. 

PhÜ¢÷uõºPÒ 37,500 43,750
AøÓP»ß 2,500 2,500
öμõUP® 6,250 10,000
PhÚõÎPÒ 62,500 87,500
\μUQ¸¨¦ 25,000 12,500

 ¤Ó Â£μ[PÒ : 

 Gk¨¦ ¹. 10,000; ÁμõUPhß ¹. 1,250; uÒÐ£i ö£ØÓx  

¹. 3,750; uÒÐ£i AÝ©vzux ¹. 2,500; £Ø£» ö\»ÄPÒ 

¹. 7,500; PhÜ¢÷uõºPÐUS ö\¾zv¯x ¹. 1,12,500; 

PhÚõÎPÎhª¸¢x ö£ØÓx ¹. 1,33,750; ÂØ£øÚ v¸¨£® 

¹. 3,750; öPõÒ•uÀ v¸¨£® ¹. 1,250; AøÓP»ß «x 5 

\uÃu® ÷u´©õÚ® CkP.   

———————— 
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B.Com. (CA) DEGREE EXAMINATION,  
NOVEMBER 2015. 

Second Semester 

Commerce with Computer Application 

MS OFFICE 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Digital Computer? 

 Digital Computer GßÓõÀ GßÚ? 

2. What is ALU? 

 ALU GßÓõÀ GßÚ? 

3. State MS-Word. 

 G®.Gì. ÷Áõºk £ØÔ SÔ¨¤kP. 

4. How will you delete text in document in MS-Word? 

 G®.Gì ÷ÁõºiÀ BÁnzvÀ EÒÍ Eøμ|øhø¯ GÆÁõÖ 

}USÁõ´? 

5. What is Chart? 

 Áøμ£h® GßÓõÀ GßÚ? 

Sub. Code 
4BCC2C2 
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6. What is Cell? 

 Cell GßÓõÀ GßÚ? 

7. What is Design view? 

 Aø©¨¦ ÷uõØÓ® GßÓõÀ GßÚ? 

8. What is Query? 

 ÷PmhÔuÀ GßÓõÀ GßÚ? 

9. What is Slide Transition? 

 £hÂÀø» ©õØÓ® GßÓõÀ GßÚ? 

10. How do you open a presentation in MS-Powerpoint? 

 £Áº £õ°ßm Põm]z ÷uõØÓzøu GÆÁõÖ vÓ¨£õ´? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Write about classification of computer. 
  Po¨ö£õÔ°ß ÁøPPøÍ¨ £ØÔ GÊxP. 

Or 

 (b) What are the advantages of computer? 
  Po¨ö£õÔ°ß |ßø©PÒ ¯õøÁ? 

12. (a) Write a note on changing text alignment in  
MS-Word. 

  G®.Gì. ÷ÁõºiÀ Eøμ|øh JÊ[øP ©õØÖuÀ £ØÔ 

SÔ¨¤kP. 

Or 

 (b) What are the steps involved in changing margins in 
MS-Word? 

  G®.Gì ÷ÁõºiÀ Kº Chzøu ©õØÖÁuØPõÚ 

£izuμ[PÒ ¯õøÁ? 
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13. (a) Write a note on Auto fill features in MS-Excel. 
  G®.Gì. GUìé¼À uõ÷Ú {μ¨¤U öPõÒÐuÀ £ØÔ 

GÊxP. 

Or 

 (b) Explain the components of MS Excel. 
  G®.Gì GUìé¼ß £õP[PøÍ ÂÁ›. 

14. (a) How will you create a database through Table 
wizard?  

  AmhÁøn GÎ¯ÁÈ PmhøÍ ‰»® }Âº GÆÁõÖ 

J¸ ÂÁμuÍzvøÚ E¸ÁõUSÁõ´? 

Or 

 (b) Explain how will you create a new query in  
MS Access. 

  MS Access—À ¦v¯ ÷PmhÔuÀ JßÔøÚ }Âº 

GÆÁõÖ E¸ÁõUSÁõ´? 

15. (a) How will you copy and delete a slide? 
  J¸ £h ÂÀø»ø¯ }Âº GÆÁõÖ |PÀ Gk¨£õ´ ©ØÖ® 

}USÁõ´? 

Or 

 (b) Write a short note on ‘Slide layout’. 
  £hÂÀø» Aø©¨¦ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Briefly explain the various components of computer. 
 Po¨ö£õÔ°ß £À÷ÁÖ £õP[PøÍ ÂÍUSP. 

17. How will you create a table in MS-Word? 
 G®.Gì ÷ÁõºiÀ AmhÁønø¯ }Âº GÆÁõÖ 

E¸ÁõUSÁõ´? 
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18. Explain the features of MS Excel. 

 G®.Gì. GUìé¼ß ]Ó¨¤¯À¦PøÍ ÂÁ›. 

19. How will you modify the table structure in MS Access? 

 MS Access–À AmhÁøn Aø©¨¤øÚ }Âº GÆÁõÖ 

©õØÓ® ö\´Áõ´? 

20. What are the options available in Edit Menu in  
MS Power point? 

 MS Power point–öuõS¨¦ PmhøÍ £mi¯¼À EÒÍ Â¸¨¦ 

PmhøÍPÒ ¯õøÁ? 

 

 

 
———————— 
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AFF–721   

 

B.Com. (CA) DEGREE EXAMINATION,  
NOVEMBER  2015 

Common with Computer Applications 

Allied — BANKING – LAW AND PRACTICE 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Banker. 

 Á[Q¯º – Áøμ¯Ö. 

2. What is Wrongful Dishonour? 

 uÁÓõÚ AÁ©v¨¦ GßÓõÀ GßÚ? 

3. What is Current Deposit? 

 |h¨¦ øÁ¨¦PÒ GßÓõÀ GßÚ? 

4. What is Non-Trading Concern? 

 Â¯õ£õμzvÀ Dk£hõu {ÖÁÚ[PÒ GßÓõÀ GßÚ? 

5. What is Material Alteration? 

 \μzx ©õØÓ® GßÓõÀ GßÚ? 

6. What do you mean by General Crossing? 

 ö£õxU RÓÀ Gß£uß ö£õ¸Ò ¯õx? 

Sub. Code 
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7. What is Endorsement? 

 ¦ÓUSÔ¨¦ GßÓõÀ GßÚ? 

8. Who is paying Banker? 

 ö\¾zx® Á[Q¯º Gß£Áº ¯õº? 

9. What is Draft? 

 Áøμ÷Áõø» GßÓõÀ GßÚ? 

10. What is Letter of Credit?  

 Phß Piu® GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Explain the special relationship between banker 
and customer. 

Á[Q¯º ÁõiUøP¯õÍ›ß ]Ó¨¦ EÓÂøÚ ÂÍUSP. 

Or 

 (b)  Describe the bankers right to Charge Interest. 

   Á[Q¯›ß Ámi Á`¼US® E›ø©ø¯ ÂÁõv.  

12. (a) What are the special features of fixed deposit? 

  uÁøn øÁ¨¤ß ]Ó¨¤¯ÀPÒ ¯õøÁ? 

Or 

 (b)  What precautions to be taken by banker while 
opening account in the name of Limited Company? 

   Áøμ¯ÖUP¨£mh {Ö©zvß ö£¯›À Á[QU PnUS 

xÁ[S® ÷£õx Pøh¤iUS® •ßöÚa\›øP ¯õx? 
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13. (a) State the essentials of a cheque. 

  Põ÷\õø»°ß ]Ó¨¤¯À¦PÒ u¸P. 

Or 

 (b)  Bring out the significance of crossing. 

  RÓ¼ß CßÔ¯ø©¯õø©ø¯ öÁÎº öPõnºP. 

14. (a) Discuss the effects of endorsement. 

  ¦ÓUSÔ¨¤ß ÂøÍÄPøÍ ÂÁõv. 

Or 

 (b)  Write a note on protection against forged signature. 

   PÒÍ øPö¯ÊzvØPõÚ £õxPõ¨¦ £ØÔ GÊxP. 

15. (a) Explain the duties of collecting banker.  

  Á`¼US® Á[Q¯›ß Phø©PøÍ ÂÍUSP. 

Or 

 (b)  Write a note on “Bills of Exchange”.  

   ©õØÖ^mk SÔzx SÔ¨¦ ÁøμP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Discuss about banker’s duty to honour the cheques. 

 Põ÷\õø»PøÍ ©vzx¨ £n® ÁÇ[S® Phø©PøÍ ÂÁõv. 

17. State the procedure for opening accounts in the name of 
Partnership Firms. 

Tmhõsø© ö£¯›À PnUS xÁ[S® |hÁiUøPPøÍ 

u¸P. 
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18. What are the effects of material alteration? 

 Ai¨£øh ©õØÓzvß ÂøÍÄPÒ ¯õøÁ? 

19. Discuss about various kinds of endorsement. 

 ¦ÓUSÔ¨¤ß £À÷ÁÖ ÁøPPÒ £ØÔ ÂÍUSP. 

20. What are the merits and demerits of Credit Card? 

 Phß AmøhPÎß |ßø©PÒ ©ØÖ® wø©PÒ ¯õøÁ? 

 
———————— 
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AFF–722   

B.Com. (CA) DEGREE EXAMINATION,  
NOVEMBER 2015. 

Third Semester 

Commerce With Computer Application 

TALLY 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. State the pre-defined ledger. 

 •ß ÁøμÄ ÷£÷μkPøÍ SÔ¨¤kP. 

2. What do you mean by double entry system? 

 Cμmøh¨ £vÄ •øÓ Gß£øu GÆÁõÖ AÔÁõ´? 

3. What are the steps to create a group using single mode? 

 uÛ ÁÈ ‰»® J¸ SÊøÁ E¸ÁõUP ÁÈ•øÓPÒ ¯õx? 

4. Distinguish the stock journal voucher from journal 
voucher. 

 SÔ¨÷£mka \õßÔ¼¸¢x \μUS SÔ¨÷£mka \õßøÓ 

÷ÁÖ£kzxP. 

Sub. Code 
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5. State any two types of costing method in valuation of 

stock. 

 H÷uÝ® Cμsk \μUS ©v¨¤k® AhUPÂø»U PnUQ¯À 

•øÓ ÁøPPøÍ TÖ. 

6. What is memorandum voucher? 

 ö©÷©õμsh® \õßÖ GßÓõÀ GßÚ? 

7. Write a short note on Statement of Accounts in display. 

 Põm]¨ £mi¯¼ß PnUS AÔUøP £ØÔ ]Ö SÔ¨¦ GÊxP. 

8. State the printing configuration options in tally. 

 ÷h¼°À Aa_ Aø©¨¦ Á\vPøÍ SÔ¨¤kP. 

9. Expand HTML. 

 GaiG®GÀ¼ß Â›ÁõUP® ¯õx? 

10. What is an URL? 

 ³BºGÀ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Write down the steps to create a sub-group. 

  J¸ E£&SÊ E¸ÁõUPzvØPõÚ ÁÈ•øÓPøÍ GÊxP. 

Or 

 (b) Explain the advantages of accounting with tally. 

  ÷h¼°ß PnUQ°»õ»õÚ |ßø©PøÍ ÂÍUSP. 
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12. (a) How do you create a new stock item in tally? 

  ÷h¼°À J¸ ¦v¯ \μUS E¸¨£iø¯ GÆÁõÖ 

E¸ÁõUSÁõ´? 

Or 

 (b) Give a brief note about the invoice voucher entry? 

  Chõ¨¦ \õßÖ £vÄ £ØÔ ]Ö SÔ¨¦ u¸P. 

13. (a) Bring out the uses of F4: Contra voucher. 

  LG¨ 4 Gvº£vÄ \õßÔß £¯ßPøÍ öPõnºP. 

Or 

 (b) Describe the stock summary report in tally. 

  ÷h¼°À \μUS¨ £mi¯À AÔUøPø¯ ÂÁ›. 

14. (a) Explicate about the backup and restore of data. 

  uPÁÀ Põ¨¦ ©ØÖ® «m¦ £ØÔ ÂÍUSP. 

Or 

 (b) Write a short note on statement of accounts in tally. 

  ÷h¼°ß PnUPÔUøP £ØÔ GÊxP. 

15. (a)  Describe the types of budget in tally. 

  ÷h¼°À vmh[PÎß ÁøPPøÍ ÂÁ›. 

Or 

 (b) Discuss the uses of import and export data. 

  uPÁÀ CÓUS©v ©ØÖ® HØÖ©v°ß £¯ßPøÍ 

ÂÁõvUP. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the uses of F11: Features in tally. 

 GL¨ 11 ¤³m\ºì]ß £¯ßPøÍ ÂÍUSP. 

17. Elucidate the sub-groups in tally. 

 ÷h¼°ß E£SÊUPøÍ ÂÍUSP. 

18. What are the types of voucher? 

 \õßÖPÎß ÁøPPÒ ¯õx? 

19. Explain the various reports generation in tally. 

 ÷h¼°À £À÷ÁÖ AÔUøPPÒ u¯õ›UP¨£kÁøu ÂÍUSP. 

20. Explain about the types of security in detail. 

 £õxPõ¨¦ ÁøPPøÍ ÂÍUP©õP ÂÍUSP. 

 

 

 
———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2015 

Third Semester 

Commerce with Computer Applications 

C PROGRAMMING 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is the purpose of size of operator? 

 AÍÃmk C¯UQ°ß ÷|õUP® GßÚ? 

2. What is the purpose of # include statement? 

 ‘# ÷\º¨¦’ TØÔß ÷|õUP® GßÚ? 

3. What is the purpose of getchar() function? 

 "öPm\õº  ( )' \õº¤ß ÷|õUP® GßÚ? 

4. What is the unconditional branching statement in C? 

 "]' °À {£¢uøÚ¯ØÓ QøÍ AÔUøP GßÓõÀ GßÚ? 

5. What is the purpose of break statement? 

 "{Özu®' TØÔß ÷|õUP® GßÚ? 

6. What is an array? 

 "A÷μ' GßÓõÀ GßÚ? 

Sub. Code 
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7. Define the syntax of structure in C. 

 "]' ö©õÈ°ß ö£õx ÁiÁzvøÚ TÖP. 

8. What is pointer? 

 "_mi' GßÓõÀ GßÚ? 

9. What is the use of Pre-Processor? 

 "•ß ¨μõìéº'– ß £¯ß GßÚ? 

10. Define Putc ( ). 

 "¦m] ( )' £ØÔU TÖP. 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Explain Ternary operator with suitable example. 
What is a cast operator? 

  öhºÚ› C¯UQø¯ Euõμnzxhß ÂÁ›. ÷Pìm 

C¯UQ GßÓõÀ GßÚ? 

Or 

 (b) What is the rule of identifiers? 

  ©õÔ¼°ß Âv•øÓPøÍ £ØÔ GÊxP. 

12. (a) Bring out the differences between while and do 
while loops in C. 

  "öÁõ°À' l öÁõ°À £v¼US® EÒÍ Âzv¯õ\zøu 

ÂÍUSP. 

Or 

 (b) Explain the multiple branching statement/switch 
statement in C with example. 

  C¸ÁÈU TØÖ ©ØÖ® ìÂma TØøÓ Euõμnzxhß 

ÂÍUSP. 
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13. (a) Write a note on C -in single-dimensional arrays. 

  ] ß JØøÓ £›©õn Á›ø\ø¯ £ØÔ GÊxP. 

Or 

 (b) Write a program to find Matrix multiplication. 

  Cμsk AoPøÍ ö£¸USÁuØS EÒÍ J¸ vmhzøu 

GÊxP. 

14. (a) What are the advantages of using pointers in C? 

  ]ß _miPÎß |ßø©PøÍ¨ £ØÔ GÊxP. 

Or 

 (b) What is function? Explain its types. 

  \õº¦ GßÓõÀ GßÚ? Auß ÁøPø¯ ÂÍUPÄ®. 

15. (a) Write a note on register variables. 

  £vÄ ©õÔPøÍ¨ £ØÔ J¸ SÔ¨¦ ÁøμP. 

Or 

 (b) Explain different mode on operation on the file. 

  ÷Põ¨¦ ö\¯ÀPÒ «x EÒÍ öÁÆ÷ÁÖ •øÓPøÍ 

ÂÍUSP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Discuss various types of operators with example. 

 C¯UQPÎß £À÷ÁÖ ÁøPPøÍ Euõμn[PÐhß 

ÂÁõvUPÄ®. 

17. Explain the syntax with example for the following : 

 (a) for 

 (b) else if ladder 

 (c) nested if 
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 ¤ßÁ¸® ö£õx ÁiÁzvøÚ Euõμnzxhß ÂÍUSP. 

 (A) L£õº 

 (B) GÀì CL¨ Ho 

 (C) ö|ìmhk CL¨. 

18. What are the different methods to passing arguments to 
a function? Explain. 

 J¸ \õº¤ØS Áõu[PøÍ AÝ¨¦ÁuØS GzuøÚ •øÓPÒ 

EÒÍÚ. ÂÁ›. 

19. Describe various string library functions used in C with 
example. 

 "]' ö©õÈ°ß "ìi›ì' ¡»P TØÔß £À÷ÁÖ ÁøPPøÍ 

Euõμnzxhß ÂÍUSP. 

20. Explain various input/output operations of files. 

 £À÷ÁÖ EÒÏk/öÁÎ±k ÷Põ¨¦PÎß |hÁiUøP £ØÔ 

ÂÁ›. 

  

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2015 

Third Semester 

Commerce with Computer Applications 

BUSINESS STATISTICS 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Statistics. 

 ¦ÒÎ°¯¼ß C»UPn® u¸P. 

2. Explain Primary data. 

 •uÀ{ø» uPÁø» ÂÍUSP. 

3. What is Mean? 

 \μõ\› GßÓõÀ GßÚ? 

4. What is Questionnaire? 

 ÂÚõ¨£mi¯À GßÓõÀ GßÚ? 

5. Write the any two merits of Quartiles Deviation. 

 PõÀ©õÚ Â»UPzvß H÷uÝ® Cμsk |ßø©PøÍ GÊxP. 

6. What do you mean by Dispersion? 

 ]uÓÀ AÍøÁPÒ Gß£uß ö£õ¸Ò ¯õx? 

Sub. Code 
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7. Describe Rank Correlation. 

 uμ JmkÓøÁ ÂÁ›. 

8. What are Regression lines? 

 öuõhº÷£õUS ÷PõkPÒ GßÓõÀ GßÚ? 

9. Mention any two uses of Time series analysis. 

 Põ»zöuõh›ß H÷uÝ® Cμsk £¯ßPøÍU SÔ¨¤kP. 

10. What is Index Number? 

 SÔ±mk Gs GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Explain the importance of statistics. 

  ¦ÒÎ°¯¼ß •UQ¯zxÁzøu ÂÍUSP. 

Or 

 (b) Explain the different parts of Table. 

  £mi¯»ø©zu¼ß £À÷ÁÖ £SvPøÍ ÂÍUSP. 

12. (a) Calculate Median from the following data : 

X : 25 30 32 38 35 40 45 48 52 55

f : 10 16 18 24 30 26 20 16 12 8 

  RÌPõq® Â£μ[PÐUS Cøh{ø» PõsP. 

X : 25 30 32 38 35 40 45 48 52 55

f : 10 16 18 24 30 26 20 16 12 8 

Or 
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 (b) Calculate Standard Deviation for the following  

data : 
X : 10 20 30 40 50 60

f : 8 12 20 10 7 3 

  RÌPõq® Â£μ[PÐUS vmh Â»UP® PõsP. 

X : 10 20 30 40 50 60

f : 8 12 20 10 7 3 

13. (a) Calculate Rank Correlation co-efficient for the 
following data : 

X : 21 42 36 37 25 41 40 26

Y : 47 37 42 40 38 45 43 41

  öPõkUP¨£mkÒÍ Â£μ[PÐUS uμ JmkÓÄU 

öPÊÂøÚ PnUQkP. 

X : 21 42 36 37 25 41 40 26

Y : 47 37 42 40 38 45 43 41

Or 

 (b) Describe the uses of Regression. 

  öuõhº¦ ÷£õUQß £¯ßPøÍ ÂÁ›. 

14. (a) Calculate Consumer price index number through 
family budget method. 

Commodity Weight Price in 2005 Price in 2010

A 100 30 50 

B 120 34 56 

C 70 16 30 

D 80 10 18 

E 40 40 44 

F 20 12 10 
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  RÌPõq® Â£μ[PÐUS ~Pº÷Áõº Âø» 

SÔ±möhsøn. Sk®£ ÁμÄ ö\»Ä vmh •øÓ°À 

PnUQkP. 

ö£õ¸Ò AÍÄ Âø» 2005 Âø» 2010

A 100 30 50 

B 120 34 56 

C 70 16 30 

D 80 10 18 

E 40 40 44 

F 20 12 10 

Or 

 (b) Briefly explain Fixed Base Index Number. 

  {ø» Ai¨£øh SÔ±mk Gsøn _¸UP©õP 

ÂÍUSP. 

15. (a) What are the components of Time Series Analysis? 

  Põ»zöuõhº Á›ø\°ß TÖPÒ ¯õøÁ? 

Or 

 (b) What are the methods of measuring seasonal 
variations? 

  £¸ÁPõ» ©õÖuÀPøÍ AÍÂk® •øÓPÒ ¯õøÁ? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Analyse various types of sampling methods. 

 ©õv›°ß £À÷ÁÖ •øÓPøÍ Bμõ´P. 
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17. Calculate Mean, Median and Mode from the data given 

below : 

X : 5-15 15-25 25-35 35-45 45-55 55-65 65-75

f : 7 15 18 26 20 16 8 

 öPõkUP¨£mkÒÍ Â£μ[PÐUS Tmk \μõ\›, 

Cøh{ø»¯ÍÄ ©ØÖ® •Pøh PnUQkP. 

X : 5-15 15-25 25-35 35-45 45-55 55-65 65-75

f : 7 15 18 26 20 16 8 

18. Calculate two regression equation : 

X : 40 37 42 38 35 30 43 39

Y : 42 40 42 30 35 36 49 46

 RÌPõq® Â£μ[PÐUS C¸ öuõhº£÷£õUS \©ß£õmøh 

PnUQkP. 

X : 40 37 42 38 35 30 43 39

Y : 42 40 42 30 35 36 49 46

19. From the following data calculate,  

 (a) Laspeyre’s 

 (b) Paashe’s 

 (c) Fisher’s ideal index method. 

Commodity 2008 2009 

 Price Quantity Price Quantity

P 12 30 15 35 

Q 7 12 10 15 

R 9 10 7 12 

S 15 20 12 18 

T 10 15 15 12 
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 RÌPõq® Â£μ[PÐUS : 

 (A) »õì¤¯ºì 

 (B) £õì]ì 

 (C) ¤èåº Ii¯À SÔ±möhsøn PnUQkP. 

ö£õ¸Ò 2008 2009 

 Âø» AÍÄ Âø» AÍÄ

P 12 30 15 35 

Q 7 12 10 15 

R 9 10 7 12 

S 15 20 12 18 

T 10 15 15 12 

20. Fit the trend line and estimate the trend values. 
Year : 2006 2007 2008 2009 2010 2011 2012 2013

Sales (Rs. in lakhs) : 38 40 65 72 69 60 87 95 

 uS¢u ÷£õUS÷Põk ©ØÖ® ÷£õUS ÷Põmk ©v¨¤øÚ 

RÌUPsh Â£μ[PÐUS Põs. 

Á¸h® : 2006 2007 2008 2009 2010 2011 2012 2013

ÂØ£øÚ (¹. »m\zvÀ) : 38 40 65 72 69 60 87 95 

———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2015. 

Third Semester 

Commerce with Computer Application 

ADVANCED ACCOUNTANCY — III 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define : Partnership. 

 Áøμ¯Ö : Tmhõsø©. 

2. What is Guarantee? 

 EzuμÁõu® GßÓõÀ GßÚ? 

3. Why a New Partner is admitted in? 

 Tmhõsø©°À J¸ ¦v¯ TmhõÎø¯ Hß ÷\ºUP 

÷Ásk®? 

4. Define : ‘Goodwill’. 

 Áøμ¯Ö : ‘|Øö£¯º’. 

5. What is Gaining Ratio? 

 Buõ¯ ÂQu® GßÓõÀ GßÚ? 

Sub. Code 
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6. Who is called as an Executor? 

 {øÓ÷ÁØÓõÍº GßÖ AøÇUP¨£k£Áº ¯õº? 

7. State the meaning of Realisation A/c. 

 wºÄ P/S Gß£uß ö£õ¸Ò TÖP. 

8. What is meant by insolvency of a Partner? 

 TmhõÎ°ß ö|õi¨¦ Gß£uß ö£õ¸Ò ¯õx? 

9. When a partnership firm is sold to a company? 

 J¸ Tmhõsø© {ÖÁÚ® G¨ö£õÊx P®ö£ÛUS 

ÂØP¨£kQÓx? 

10. What is maximum loss method? 

 Ea\|mh•øÓ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11.  (a) Prepare the capital accounts of the partners, Ram 
and Krishnan from the following details assuming 
that their capital are fluctuating. 

Particulars Ram Krishnan
 Rs. Rs. 

Capital as on 01.04.2008 2,10,000 1,20,000
Drawing during the year 18,000 12,000
Interest on capital at 6% ? ?
Interest on drawings 450 300
Share of profit 24,000 18,000
Partner’s salary – 6,000
Commission 4,800 3,600
Interest on Ram’s  loan 3,000 –
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  ¤ßÁ¸® Â£μ[PÎ¼¸¢x v¸.μõ® ©ØÖ® 

v¸.Q¸èns GßÓ TmhõÎ°ß •uÀ PnUøP 

©õÖ® •u»õP öPõsk u¯õ›UP. 
ö£õ¸mPÒ μõ® Q¸ènß

 ¹. ¹. 

01.04.2008 AßÖ •uÀ 2,10,000 1,20,000

Bsiß  Gk¨¦ 18,000 12,000

6% •uÀ «x Ámi ? ?

Gk¨¦ «x Ámi 450 300

C»õ£zvÀ £[S 24,000 18,000

TmhõÎPÎß \®£Í® – 6,000

PÈÄ 4,800 3,600

μõ® Phß «x Ámi 3,000 –

Or 

 (b)  Sundar and Kumar are partners. Sundar draws 
Rs.300 regularly in the middle of each month during 
the year 2012. Kumar draws Rs.1,000 on 01.03.2012 ; 
Rs. 500 on 01.07.2012 ; Rs. 2,000 on 01.09.2012 and 
Rs.1,500 on 01.11.2012. Calculate interest on 
drawings @ 8% p.a. 

  _¢uº ©ØÖ® S©õº GßÓ C¸Áº TmhõÎPÒ 2012&® 

BsiÀ _¢uº Gß£Áº JÆöÁõ¸ ©õu |kÂ¾® 

¹.300&I GkzxU öPõÒQßÓÚº. S©õº Gß£Áº 

01.03.2012&À ¹.1,000  ;  01.07.2012&À ¹.500 ; 

01.09.2012&À ¹.2,000 ©ØÖ® 01.11.2012&À ¹.1,500 

GÚ GkzxU öPõÒQßÓÚº. Gk¨¤ß «uõÚ Ámi 

BsiØS 8% GÚU PnUQkP. 

12. (a) Calculate the goodwill under super profit method 
profit for the past 3 years as follows : 

  2008 – Rs. 25,000 ; 2009 – Rs.40,000 ; 2010 – 
Rs.55,000. The capital invested by the firm is 
Rs.2,50,000. A normal rate of return on capital is at 
10%. Goodwill is based on 3 years of purchase. 
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Ph¢u 3 BskPÐUS ªøP C»õ£® •øÓ°À 

|Øö£¯º PnUQkP. 

  2008 & ¹.25,000 ; 2009 & ¹.40,000 ; 2010 & ¹. 55,000 

C¢{ÖÁÚzvß •uÀ ¹.2,50,000, \õuõμn C»õ£ Ãu® 

•u¼À 10% BS®. |Øö£¯º 3 BskPÐUS ©hUøP 

Ch¨£h÷Ásk®. 

Or 

 (b)  X and Y sharing profits in the ratio of 7 : 3. They 
admit Z on 3/7th share in the new firm which be 
takes 2/7th from X and 1/7th from Y. Calculate new 
ratio of partners. 

  X ©ØÖ® Y   7 : 3 GßÓ ÂQuzvÀ C»õ£[PøÍ¨ 

£Qº¢x öPõÒQßÓÚº. Z GßÓ TmhõÎ 3/7 GßÓ £[S 

ÂQuzvÀ Tmhõsø©°À ¦vuõP ÷\ºQßÓÚº.  

AvÀ 2/7&I X Gß£Á›hª¸¢x®, 1/7&I  

Y  Gß£Á›hª¸¢x® ö£ÖQÓõº. ¦v¯ C»õ£ ÂQu® 

PnUQkP. 

13. (a) K, L and M share profits and losses in the ratio of  
5 : 3 : 2. From 1st April 2010, L retires and for that 
purpose the following adjustments were agreed 
upon : 

  (i) Increase the value of premises by Rs.48,000 

  (ii) Depreciate stock by Rs.4,000, Furniture by 
Rs.1,000 and Machinery by Rs.4,600. 

  (iii) Provide for an outstanding liability Rs.200. 

   Prepare Revaluation A/c. 
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  K, L ©ØÖ®  M BQ¯ TmhõÎPÒ 5 : 3 : 2 GÝ® 

ÂQuzvÀ C»õ£ |mh[PøÍ £Qº¢x öPõÒQßÓÚº. 

2010 H¨μÀ 1 •uÀ ‘L’ GÝ® Tmhõo Â»QU 

öPõÒQÓõº. 

  (i) ÁÍõPzvß ©v¨ø£ ¹.48,000 BÀ E¯ºzuÄ®. 

  (ii) \μUQÀ ¹.4,000&®. AøÓP»ÛÀ ¹.1,000, 

C¯¢vμzvÀ ¹.4,600, ÷u´©õÚ® SøÓzx ©v¨¦ 

GÊuÄ®. 

  (iii) öPõk£hõPhß ¹.200 PnUQÀ ÷\ºUPÄ®. 

©Ö©v¨¥mkU PnUøPz u¯õ›UPÄ®. 

Or 

 (b)  What are the methods of disposal of the deceased 
partner’s share? 

  ©μn® Aøh¢u TmhõÎ°ß £[øP £Qº¢uÎUS® 

•øÓPÒ ¯õøÁ? 

14. (a) The following was the balance sheet of A,B and C 
who were in partnership sharing profit and loss  
in 3 : 2 : 1. 

Liabilities Rs. Assets Rs. 

Capital Accounts :  Cash at bank 500

             A 15,000 Machinery 10,000

             B 10,000 Debtors 15,000

Reserve 6,000 Stock 12,000

A’s loan 5,000 C’s capital 8,500

Creditors 10,000  

 46,000  46,000
  The firm was dissolved. Assets other than cash 

realised Rs.26,000, expenses of dissolution were 
Rs.1,000. C was insolvent but Rs.2,000 was realised 
from his estate. Prepare realisation a/c and capital 
a/c under Garner Vs Murray Rule. 
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  3 : 2 : 1 GßÓ ÂQu Ai¨£øh°À C¯[S® A,B ©ØÖ® 
C BQ¯  ‰Á›ß Tmhø©¨¤À C¸¨¦ {ø»U SÔ¨¦ 

¤ßÁ¸©õÖ : 

 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

•uÀ PnUSPÒ :  öμõUP® 500

             A 15,000 ö£õÔ 10,000

             B 10,000 PhÚõÎPÒ 15,000

Põ¨¦ {v 6,000 \μUQ¸¨¦ 12,000

A’°ß Phß 5,000 C’ß •uÀ P/S 8,500

PhÜ¢÷uõºPÒ 10,000  

 46,000  46,000

  {ÖÁÚ® Pø»UP¨£mk öμõUP® uÂμ ©ØÓ ö\õzxUPÒ 

¹.26,000&US ÂØP¨£mhÚ. Pø»¨¤ØPõÚ ö\»Ä 

¹.1,000, C vÁõÀ {ø» Aøh¢x ¹.2,000 ©mk÷© 

uÛ¨£mh •øÓ°À AÎzuõº. wºÄ P/S ©ØÖ® PõºÚº 
Vs ‰º÷μ Âv¨£i •uÀ P/S u¯õ›UP. 

 Or 

 (b)  What are the differences between revaluation a/c 
and realisation a/c? 

  ©Ö©v¨¥mk PnUQØS® vºÄ PnUQØS® 

Cøh÷¯²ÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

15. (a) Following is the balance sheet of M/s. P, Q and R 
who share profits and losses in the ratio of 2 : 2 :1. 

Liabilities Rs. Assets Rs. 

Sundry creditors 30,000 Cash 4,000

Capital a/c’s :  P 30,000 Sundry debtors 44,000

                        Q 24,000 Stock 44,000

                       R 8,000  

 92,000  92,000
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  The firm dissolved and the assets were realised 

gradually. 

  1st Realisation – Rs. 20,000 

  2nd Realisation – Rs. 30,000 

  3rd Realisation – Rs. 18,000 

  Show how distribution of cash is to be made as and 

when realisations are made. 

2 : 2 :1 GßÓ ÂQu Ai¨£øh°À C»õ£ |mhzvøÚ 

¤›zxU öPõÒÐ® P, Q ©ØÖ® R BQ÷¯õ›ß C¸¨¦ 

{ø»U SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 30,000 öμõUP® 4,000

•uÀ P/S :  P 30,000 PhÚõÎPÒ 44,000

Q 24,000 \μUQ¸¨¦ 44,000

                   R 8,000  

 92,000  92,000

  {ÖÁÚ® Pø»¨¤ØSÒÍõQ, ö\õzxUPÒ £i¨£i¯õP 

öμõUP©õUP¨£mhÚ. •uÀ •øÓ & ¹.20,000 ; 2&® 

•øÓ & ¹. 30,000  ; 3&® •øÓ ¹.18,000. öμõUP® 

GÆÁõÖ £i¨£i¯õP £Qº¢uÎUP¨£kQÓx. 

Or 
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 (b)  The balance sheet of Praveen and Vignesh sharing 
ratio  3 : 2 stood as follows when they determined to 
sell off their business to a newly started joint stock 
company. 
Liabilities Rs. Assets Rs. 

Capital : Praveen 40,000 Machinery 20,000

Vignesh 10,000 Debtors 10,000

Reserve 5,000 Stock 30,000

Creditors 10,000 Cash 5,000

 65,000  65,000

  The company takes over all the assets except cash 
for Rs.55,000, Rs,40,000 payable in shares of the 
company and Rs.15,000 in cash. The expenses of 
realisation amounted to Rs.500. The creditors were 
paid off at a discount of 5%. Prepare realisation a/c 
and capital a/c. 

  ¤μÃß ©ØÖ® ÂU÷Úè GßÝ® TmhõÎPÒ 3 : 2 GßÓ 

ÂQuzvÀ C»õ£zøu £Qº¢x öPõsk RÌUPsh 

C¸¨¦ {ø»U SÔ¨¤ß £i AÁºPÐøh¯ 

Â¯õ£õμzøu J¸ ¦v¯uõ´ Bμ®¤UP¨£mh 

Tmk¨£[S {ÖÁÚzvØS ÂØP •iÄ ö\´QßÓÚº. 
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ : ¤μÃß 40,000 C¯¢vμ® 20,000

              ÂU÷Úè 10,000 PhÚõÎPÒ 10,000

              Põ¨¦ 5,000 \μUS 30,000

            PhÜ¢÷uõº 10,000 öμõUP® 5,000

 65,000   65,000

  {Ö©® AøÚzx ö\õzxUPøÍ²® (öμõUP® uÂμ) 

¹.55,000 &US GkzxU öPõshx. AuØS ¹.15,000&I 

öμõUP©õPÄ®, ¹.40,000&US {Ö©zvß £[SPøÍ²® 

öPõk¨£uõP J¨¦U öPõshx. wºÄa ö\»ÄPÒ ¹.500, 

PhÜ¢÷uõº PnUS 5% ÁmhzvÀ wºUP¨£mhx. wºÄ 

P/S ©ØÖ® •uÀ P/S u¯õ›UP. 



AFF–725

  

  9

WS20

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Mala and Kamala are partners sharing profits and losses 
in the ratio of 3 : 2. From the following details, write up 
their current account for the year 2008 : 

 Mala (Rs.) Kamala (Rs.)
Capital on 01.01.2008 24,000 16,000
Current A/c balances on 01.01.2008 200 (Cr.) 1,000 (Dr.)
Drawings including salaries 11,000 7,600
Partner’s salaries 500 p.m. 300 p.m.
Interest on capital @ 5% ? ?
Net profit before making adjustment 
for the above items was Rs.12,000 – –

 ©õ»õ ©ØÖ® P©»õ TmhõÎPÒ 3 : 2 GßÓ ÂQuzvÀ C»õ£ 

|mh[PøÍ ¤›zxU öPõÒQßÓÚº. ¤ßÁ¸® 

Â£μ[PÎ¼¸¢x 2008&® BsiØPõÚ |h¨¦U PnUøPz 

u¯õ›UP. 

 ©õ»õ (¹.) P©»õ (¹.) 

“ 01.01.2008 & ® Bsk •uÀ 24,000 16,000

|h¨¦U PnUS C¸¨¦ 

01.01.2008&À  

200 (ÁμÄ 1,000 (£ØÖ

Gk¨¦ (\®£Í•® ÷\ºzx) 11,000 7,600

TmhõÎPÒ \®£Í® 500 ©õuzvØS 300 ©õuzvØS

•uÀ «x Ámi 5% ? ?

C»õ£® ÷©ØPsh \›UPmh¾US 

•ß¦ ¹.12,000 

– –

17. The following is the balance sheet of X and Y sharing 
profits in the ratio of  3 : 2 as on 31.12.2011. 

Liabilities Rs. Assets Rs. 

Creditors 10,000 Cash 1,500

Capital : X  40,000 Debtors 6,500
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Liabilities Rs. Assets Rs. 

             Y 30,000 Stock 18,000

  Building 34,000

  Furniture 20,000

 80,000  80,000

 They agreed to admit ‘Z’ into partnership with a capital of 
Rs.25,000. The new profit sharing ratio is 5 : 3 : 2. The 
following revaluation was made. 

 (a) Stock to be depreciated at 10% 

 (b) Provision for bad debts is to be Rs.500 

 (c) Furniture to be depreciated at 5% 

 (d) Buildings is valued at Rs.40,000. 

 Prepare necessary ledger accounts. 

 3 : 2 GßÓ ÂQuzvÀ C»õ£zøu £Qº¢xU öPõÒÐ® X ©ØÖ® 

Y  BQ¯ C¸ TmhõÎPøÍ 31.12.2011&À EÒÍ 

C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 10,000 öμõUP® 1,500

•uÀ : X  40,000 PhÚõÎPÒ 6,500

      Y 30,000 \μUQ¸¨¦ 18,000

  Pmih® 34,000

  AøÓP»ß 20,000

 80,000  80,000

 ‘Z’ Gß£Áøμ ¹.25,000 •u¾hß ¦v¯ TmhõÎ¯õUP 

AÁºPÒ •iÄ ö\´uÚº. ¦v¯ C»õ£ £[Rmk ÂQu® 5 : 3 : 
2 BS®. RÌUPshÁõÖ ©Ö©v¨¥mk ö\´¯¨£kQÓx. 
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 (A) \μUS 10% SøÓzx ©v¨¤h÷Ásk®. 

 (B) I¯UPhß JxUS ¹.500 GÊuÄ®. 

 (C) AøÓP»ß 5% ÷u´©õÚ® GÊu ÷Ásk®. 

 (D) Pmih® ¹.40,000 GÚ ©v¨¤h¨£hQÓx. 

 ÷uøÁ¯õÚ ÷£÷μmkU PnUSPøÍ u¯õ›UP. 

18. A, B and C partners in a firm sharing profits and losses 
in the ratio of 5 : 3 : 2. On 1st January 2013, ‘B’ retires. 
For the purpose of retirement the goodwill of the firm 
was valued at Rs.70,000. Pass journal entries under the 
following cases : 

 (a) Total goodwill is raised and maintained in the 
books. 

 (b) Total goodwill raised and written off. 

 (c) B’s share of goodwill is raised and maintained in the 
books. 

 (d) B’s share of goodwill raised and written off. 

 (e) Without raising the goodwill a/c, B’s share is given. 

 5 : 3 : 2 GÝ® ÂQuzvÀ A , B ©ØÖ® C BQ¯ TmhõÎPÒ 

C»õ£ |mhzøu £[RmkU öPõÒQßÓÚº. 1 áÚÁ› 2013&À 

‘B’ Â»SQÓõº. Czu¸nzvÀ |Øö£¯º ¹.70,000 GÚ 

©v¨¤h¨£kQÓx. RÌUPshÁØÔØS SÔ¨÷£mk¨ £vÄPÒ 

u¸P. 

 (A) |Øö£¯º E¸ÁõUP¨£mk HkPÎÀ C¸¨¤À 

øÁUP¨£kQÓx. 

 (B) |Øö£¯º E¸ÁõUP¨£mk Eh÷Ú ÷£õUöPÊu¨£kQÓx. 

 (C) B&ß £[QØPõÚ |Øö£¯º E¸ÁõUP¨£mk, HkPÎÀ 

C¸¨¦ øÁUP¨£kQÓx. 

 (D) B&ß £[QØPõÚ |Øö£¯º E¸ÁõUP¨£mk Eh÷Ú 

÷£õUöPÊu¨£kQÓx. 

 (E) |Øö£¯º E¸ÁõUP¨£hõ©À, B&ß £[S |Øö£¯º 

öPõkUP¨£kQÓx. 
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19. The balance sheet of A, B and C who are sharing profits 
in the ratio of 2 : 2 :1 was as follows on 31.03.2010, the 
date of dissolution. 

Balance Sheet of A, B and C 
Liabilities Rs. Assets Rs. 

Creditors 1,20,000 Cash 1,000

Bank loan   Stock 60,000

(with a charge on stock) 50,000 Other assets 1,09,000

Capital : A 30,000 Goodwill 30,000

               B 20,000 Capital C 20,000

 2,20,000  2,20,000
Stock realised Rs.52,000 and other assets were sold for 
Rs.90,000. Expenses on realisation amounted to Rs.3,000. 
Assuming all the partners are insolvent. Prepare 
necessary ledger accounts to close the books of the firm. 
2 : 2 :1 GÝ®ÂQuzvÀ C»õ£zøu £[RmkU öPõÒÐ® A, B 
©ØÖ® C TmhõÎPÎß C¸¨¦ {ø»U SÔ¨¦ Pø»¨¦ 

÷uv¯õÚ 31.03.2010&À  R÷Ç  EÒÍÁõÖ uμ¨£mkÒÍx. 

A, B ©ØÖ® C &ß C¸¨¦ {ø»U SÔ¨¦ 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõºPÒ 1,20,000 öμõUP® 1,000

Á[QUPhß   \μUQ¸¨¦ 60,000

(\μUQß «x ©v¨¦) 50,000 ¤Ó ö\õzxUPÒ 1,09,000

•uÀ  :     A  30,000 |Øö£¯º 30,000

               B 20,000 C&ß •uÀ 20,000

 2,20,000  2,20,000

 \μUS ¹.52,000 ©ØÖ®  ¤Ó ö\õzxUPÒ ¹.90,000 

ÂØP¨£mhÚ. wºÄ ö\»Äz öuõøP ¹.3,000 BS® AøÚzx 

TmhõÎPÐ® ö|õizuÁºPÒ GÚU öPõsk Tmhõsø©°ß  

HkPøÍ CÖv ö\´¯ ÷uøÁ¯õÚ ÷£÷μmkU PnUSPøÍ 

u¯õ›UPÄ®. 
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20. The Moonlight Company Ltd., was formed to acquire the 
business of A and B who share profits in 2/3 and 1/3 
respectively. The balance sheet of A and B was as under 
on 31.03.2012. 

Liabilities Rs. Assets Rs. 

Bills payable 7,200 Land and Buildings 40,000

Sundry creditors 21,600 Machinery 20,000

Mrs. A loan 3,200 Stock 24,000

Capital : A 64,000 Debtors 23,200

               B 40,000 Bills receivable 6,400

  Investments 4,800

  Cash at bank 9,600

  Goodwill 8,000

 1,36,000  1,36,000

 It was agreed by the company two take over the assets at 

book value with the exception of Land and Buildings and 

stock which were taken over at Rs.45,000 and Rs.20,000 

respectively. The investments were retained by the firm 

and sold by them for Rs.4,000. They also discharge the 

loan of Mrs. A. The company takes over the remaining 

liabilities. The value of goodwill is fixed at Rs.28,800.  

 The purchase consideration is discharged as follows 

Rs.10,000 ordinary shares of Rs.10 each and the balance 

in cash. Close the ledger of the firm. 
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 2 : 1 GßÓ ÂQu Ai¨£øh°À TmhõÎPÒ A  ©ØÖ® B 

BQ÷¯õ›ß ÁoP {ÖÁÚzvøÚ Áõ[SÁuß ‰»® {» 

JÎ {Ö©® ÷uõØÖÂUP¨£mhx. A  ©ØÖ® B BQ÷¯õ›ß 

C¸¨¦ {ø»U SÔ¨¦ 31.03.2012&À ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

ö\¾zu Esi¯ÀPÒ 7,200 {»® Pmih® 40,000

£Ø£» PhÜ¢÷uõº 21,600 ö£õÔ 20,000

v¸©v A &ß Phß 3,200 \μUQ¸¨¦ 24,000

•uÀ:      A 64,000 PhÚõÎPÒ 23,200

               B 40,000 ÁμÂØS›¯ Esi¯ÀPÒ 6,400

  •u½mk¨ £zvμ[PÒ 4,800

  Á[Q°À öμõUP® 9,600

  |ß©v¨¦ 8,000

 1,36,000  1,36,000

 {»® ©ØÖ® Pmih® ¹.45,000, \μUQ¸¨¦ ¹.20,000 GßÓ 

Âø»°¾® ©ØÓ ö\õzxUPÒ ¦zuP Âø»°¾® {Ö©®  

GkzxU öPõshx •u½mk¨ £zvμ[PøÍ Tmhø©¨¦ 

{ÖÁÚ® uß ö£õÖ¨¤À ¹.4,000&US ÂØ£øÚ ö\´ux. 

v¸©v A&ß PhøÚ²® CÁºP÷Í ö\¾zvÚº. ©ØÓ 

ö£õÖ¨¦PøÍ {Ö©® ÷©ØöPõshx. ÁoP |ß©v¨¦ 

¹.28,800 wº©õÛUP¨£mhx. 10.000 Tmhõsø©°ß 

Áõ[S® Âø» RÌUPõq® ÁøP°À ö\¾zu¨£mhx.  

¹.10 Ãu® \õuõμn¨ £[SPÒ GÚÄ® «u® öμõUP©õPÄ® 

AÎUP¨£mhx. {ÖÁÚzvß £v÷Ámøh •iUP. 

—————————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2015 

Commerce with Computer Applications 

PRINCIPLES OF MANAGEMENT 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Explain the term Management. 

 ÷©»õsø© Gß£øu ÂÍUSP. 

2. What is Scalar chain? 

 öuõhº ÷©»õsø© GßÓõÀ GßÚ? 

3. What is Policy? 

 öPõÒøP GßÓõÀ GßÚ? 

4. What is rational decision? 

 £SzuÔÄ •iÄ ¯õx? 

5. Define Organisation. 

 Aø©¨¦ £ØÔ C»UPn® u¸P. 

6. What do you mean by Departmentation? 

 xøÓ¨£kzxuÀ GßÓõÀ GßÚ? 

Sub. Code 
4BCCA3 
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7. What is on the Job Training? 

 ÷Áø»°À £°Ø] Gß£x ¯õx? 

8. What do you mean by performance Appraisal? 

 ö\¯ÀvÓß ©v¨¤kuÀ Gß£x ¯õx? 

9. What is Communication network? 

 öuõhº Áø»¯ø©¨¦ Gß£x ¯õx? 

10. What is meant by direction? 

 ÁÈPõmkuÀ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Explain the contribution made by Elton Mayo to 
Management thought. 

  GÀhß ©÷¯õÂß ÷©»õsø© ]¢uøÚUPõÚ 

£[PÎ¨¦ £ØÔ ÂÍUSP. 

Or 

 (b) Explain the importance of Management. 

  ÷©»õsø©°ß •UQ¯zxÁzøu ÂÍUS. 

12. (a) What are the various objectives of planning? 

  vmhªku¼ß £À÷ÁÖ ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Explain the importance of Decision Making. 

  •iöÁkzu¼ß •UQ¯zxÁ® £ØÔ ÂÍUS. 
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13. (a) List out the functions of Organisation. 

  {ÖÁÚzvß £oPøÍ £mi¯¼k. 

Or 

 (b) What are the advantages of delegation? 

  £Qº¢uÎ¨£uß |ßø©PÒ ¯õøÁ? 

14. (a) What are the different methods of selection of 
Employees? 

  £o¯õÍºPøÍ ÷uºÄ ö\´²® £À÷ÁÖ •øÓPÒ 

¯õøÁ? 

Or 

 (b) Explain the various methods of Training.  

  £°Ø]°ß £À÷ÁÖ •øÓPÒ ¯õøÁ? 

15. (a) Discuss the Herzberg’s two factors theory. 

  öPºì ö£ºUQß Cμsk PõμoPÒ ÷Põm£õk £ØÔ 

ÂÁõv. 

Or 

 (b) Explain the different types of Motivation.  

  FUP¨£kzxu¼ß £À÷ÁÖ ÁøPPÒ £ØÔ ÂÍUS. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Discuss the Principles of Direction. 

 ÁÈPõmkuÀ ÷Põm£õk £ØÔ ÂÁõv. 

17. Briefly discuss the main elements of Taylor’s Scientific 
Management. 

 öh´»¸øh¯  AÔÂ¯À ÷©»õsø©°ß ‰»UTÖPøÍ 

_¸UP©õP u¸P. 
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18. Elaborate the steps involved in the planning process. 

 vmhªku¼ß £À÷ÁÖ {ø»PÒ £ØÔ Â›ÁõP ÂÍUSP. 

19. Discuss the needs and importance of performance 
appraisal in an organization. 

 ö\¯ÀvÓß ©v¨¤ku¼ß ÷uøÁ ©ØÖ® •UQ¯zxÁ® £ØÔ 

ÂÁõv. 

20. Explain the factors that determine the Span of 
Management. 

 vÓßªS ÷©»õsø©°ß PõμoPÒ ¯õøÁ? 

 

 

—————— 


